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Run62 Calibration

. RunNumber : 18405~18409
Time [ns] (Integrated)
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Run62FromMyCode-Run62FromDB(shiomi $an)

Used RunNumber for Run62From
:17839~17852
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Calibration check with Vertex Time

e After applying all kinematical cut,
— Distribution of (Mean Vertex GammaTime —

MBVertexTime)
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Run Stability of 5g+1g
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My Calibration CO m pa riSO n

DB Calibration
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vertex lime Difterence between
DB - MyCalib

VertexTimeDifference (a) 4 . .FTOMeanTimeDifference (b)
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Run64 (DB-MyCalib)
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alibration Comparison

35 *
30
25

20

*IIIIIII|IIII|IIIIIII]IIIIIII]I[IIII

*

S sho

R
:
{

P TN S N N N T (N T S S B R

W

T

VertexTimeDifference (a)

20 40 60 80 100

Illlllll'\llllllll
%
*
*
*

J|||||||*||%||
g ¥
*@K*
***
¥

o 10 20 30 40 S50 80

TOMeanTimeDifference (b)

o8
0.6
o4
c.2

ey

IIrNIIIIIIIIIIlIII]III

¥

%
¥
-

-0.2

-0.4

-0.6

-0.8

IIIIIII]II*IIII

- llIIIIllIIIlllllllllllllllllllllll
b 10 20 30 20 50 50

© o ©
H OO @

Illllllllllllllla
g
S

o
N

gﬁf"'

%%

3

*i
¥
T
k)

b * *

A -+ ’§¢
-0.4 e =
-0.6 :—
-0.8 :—

0 20 30 40 50

_bllll1lllllIllIlIllllIlIllllIlIlllll



Run69 MB




Run69 |IB




450

400

350

300

250

200

HitZ comparison (Time difference)
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Energy Time of All veto with Tri

BCV

BCV10:BCVEneCor {STrig==257}
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Energy Time of All veto with Trig==257
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Summary

* All detector veto will be applied

— Undergoing...
* No time peak in BHGC
* Two time peak in OEV

* Check Internal correction
— Almost same between Run62DB and MyCalib

 Problem in Module Correction?

— 1) Get mean time difference between modules
* i_th mean time —j_th mean time
* Fit mean time difference with gaussian
— 2) chi2 estimation, minimization(TMinuit in ROOT, same as
shiomi san’s)
e i_th mean time —j th mean time = ToF ij + OFFset_i — OFFset_j
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__ Fitting All, Run6d
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